SuMPO EPD
F1TNBRIEEE (EPD)
ZixES . JR-BT-24001E

SUMpPoO

..EPD

AAAAA

VERIFIED

(BR)HES
MEIDENSHA CORPORATION

SUMPOIRIESINILTOIS s
— A EEAY AT IR EHE RS
R REXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

IRTIVHAZEE

Ester-filled transformer

HEHN ERES JR-BT-24001E
P EAPCRES  PA-302200-BT-04
PCR% T ER
BEEX SRR YNEI=| 202554 A1H
[ f53d) O RIe4 WEEEEH 2025218108
R RLRE, S, B, - M BEE - UYMVERR i A= 1B B AIIREE S =
RAES JV-BT-24001
IREEEZNEAR 203041 89H
HmOBER, TELKR-Ex PCRLE1-DENE
WREXS : SHAZES REHSE 20235 98 1H
K3 (FFE —MAEEEAY AT F IR HEE
R Y XA = ZIRIEE
-EEHRE ¢ 1~30MVA
AR (50 Hz. 60 Hz) © 503460 Hz SERREESE ML BiE

-AEEEFAEAME : 305F

LUF, 8BHRZEMERCED, RESTRIERETROESY,
AR L 11kW

-IRIVF—THEE R ¢ 35.5kW

-<H& § BE3620mm, £&E5045mm, Bf7E2990mm

RIWEHEE

ISO14025(CHE>T=ARE E R UT-F DI LI-1REE

CIAER WAER

*YAT LR EZ TR EAANDIRIEDIZ A, VAT LREAET>REEED

HBIERH.

(#k) BAEE T141-6029 R &HI/IIX K =T B1&F15 ThinkPark Tower
TEL : 03-6420-8100 URL : https://www.meidensha.co.jp/

Z5&ES 1 JR-BT-24001E



SUMPORIESAINTOTS L

5“"""0 SuMPO EPD — R EIE A Y AT IR B
.. EP “m 4T NEBEES (EPD) HRBTRERE A HE1-14-8
VERIFIED KANDA SQUARE GATE
E#k&ES © JR-BT-24001E https://ecoleaf-label.jp
OF1 TV IV EFMmER
SURZSH) IPCC 2013 GWP 100a | 5800000 | kg-COseq|”
ERMEAL 2200.00 | kg-SO2eq
ERHE 67.000 | kg-Sheq
m DR #4572 BQLEE " Q&
B OFER-HEHEE BOEE- YA
2 IEH| B A% ORMHREE| QLEE Qi | @ER-wEEE ORE-UF(I)
SURZEE IPCC 2013 GWP 100a | kg-CO.eq | 5.8E+06 | 1.1E+05 | 1.7E+04 | 29E+04 | 5.6E+06 | 4.2E+03
AV EHEE kg-CFC-11eq| 5.5E-03 5.2E-03 1.9E-05 3.5E-07 2.5E-05 2.0E-04
[k |4 kg-SO-eq | 2.2E+03 | 6.2E+01 8.2E+00 | 3.8E+01 2.0E+03 | 23E+01
W ARUEE kg-SO-eq | 9.2E+02 | 3.8E+01 3.5E+00 1.8E+01 8.5E+02 1.1E+01
FHALFEAFIT Vb kg-CHseq | 1.3E+02 6.5E-01 3.8E-01 7.6E-01 1.3E+02 4.1E-02
BEEEYEFENAM) kg-CsHeeq | 3.1E+02 | 2.8E+02 6.5E-02 1.4E-05 3.1E+01 6.3E-03
BEEFEYME(EN) kg-CeHeeq | 5.6E+00 9.1E-01 9.6E-03 2.0E-06 4.6E+00 9.2E-04
KEEREESM kg-CsHeeq | 8.1E+03 1.0E+03 1.5E+01 3.1E-03 7.1E+03 1.4E+00
B4 RES M kg-CeHeeq | 2.2E+05 | 4.4E+04 3.6E+02 7.5E-02 1.7E+05 3.4E+01
EREL kg-PO.*eq| 6.4E-02 8.3E-03 2.3E-04 2.3E-05 3.7E-08 5.5E-02
+ Hu ) A (HEF) m?*/ 5 1.8E+04 || 8.0E+03 | 3.1E+01 3.3E+02 | 9.6E+03 | 2.0E+02
T A (RE) m?/5 3.6E+02 | 1.6E+02 6.2E-01 6.6E+00 | 1.9E+02 | 4.0E+00
EREE kg-Sbeq | 6.7E+01 || 4.3E+01 1.4E-01 1.2E-01 2.4E+01 1.6E-02
OHRIRUYEIET SRS
IHE BifiL mH-9E (ERHS) HifiL
EHLERRER 4.1E+04 kg EREME 67 %
FEFERREIRILF- 2.3E+06 kg AL At 31 %
FEBEAREIRIY- 9.7E+07 MJ Z0ft 2 %
BAAIREER 2.7E+04 kg - 0 %
BAERTREIRILY - 3.3E+06 MJ - 0 %
RKIKDEE 6.7E+02 m? - 0 %
HE, CO2; b BERME, AR, FHEE | 5.7E+06 kg - 0 %
HR, B, 44.7MU/kg, Bet, kB TRTRLE- | 3.5E+05 kg - 0 %
P, BRUERAAY, XS, AEE | 1.7E-03 kg - 0 %

@FEEYEIEFR

HE B
HFEREZEY kg
BERZEY 9.9E+03 kg
—fRFEEY) 1B 0.0E+00 kg
EXEZREY 18319 9.9E+03 kg

HKIMTYIINICBIREMRBERLTVNET,

GOEERRICETHEMIFR




SUMPORIEININTOI S L
— AR AS AT TR EHEE S
RREFAEXAFHRET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

SuMPO SuMPO EPD
VEPD  siumsss

VERIFIED

(EPD)
Eix&E5S . JR-BT-24001E

I5H CAS No. ESE
IFLAVE Y 100-41-4 PRTRE. FEBRE/EE, HINE
o ST | 101-68-8 BEELEEE, PRTRE
BEESE —JLTXTIL 108-05-4 LT, FBRLFELEE
MNAYTFITEY 108-10-1 PRTRE. FEBRE/&EE. HIFE
1,35-RJAFILRUEY 108-67-8 PRTRE. R EB &L, HIAE
LT 108-88-3 LEE. FBEEEEE
2x/—J)L 108-95-2 LEE. FRHEEEEE
IFLYYYI-VE/IFAI-TI | 110-80-5 PRTR%
JFy 111-84-2 FEEE/EE
JAVERE R(2- TFLAXYL) | 117-81-7 PRTRA. IR EB & X, HIE
by 1330-20-7 PRTRiL. HEIRE/ 4L, JHIFE
RIARRE )k 1330-20-7 FEEE/EE
DAF IR B 1330-20-7 FERELBEE. PRTRE
BiEF2> (IV) 13463-67-7 FERE/EE, PRTRE
FEREEN YT L 13701-59-2 PRTRiZ. HEIRER/ AL, HIFE
IHRE R 25068-38-6 FERE/EE
ZEEFE 3463-67-7 FE RS BEE
RILLTILTER 50-00-0 ILEE. FBERE/EE. PRTRE
1,23-F)AF LR LY 526-73-8 PRTRA. FEIR LB/ EE
AP =VAVIAS 61789-51-3 FERE/EE
SRSILREY vk reranos s FRREFER
KFBILRBEER AT T (64742-82-1 FEREFEE. PRTRE
BHFIYH 64742-94-5 FERE/LEE
BWmFI7Y G 64742-95-6 PRTRA. HEIR LB/ EE
AFILTILa—)L 67-56-1 FERE/EE
A3 /)—)L 67-56—1 LETE. FRLLEEE
1—J42/—)L 71-36-3 FEERE/EE
AJTFILTILa—IL 78-83-1 FERE/LEE
ABHYLEE2 —EFOXLIFIL | 868-77-9 LETiE. FBLLEEE
Jx/—)LitRE 9003-35-4 LEE. FBRLFEEE
F750y 91-20-3 PRTRE. FEBRE/EX. HIFE
1,24-R)AFILRUEY 95-63-6 PRTRA. TR EB & X, HIFE
1,24M)AF ATy 95-63-6 PRTR%
AFILIFIVT AT L 96-29-7 FEEE/LEE
A 98-82-8 FERE/EE
AV — FETEEEE




SUMPOBERIESANINTOI T

SuMPO SuMPO EPD — AR A Y AT F IR S

o ..E PD S4TNBIEEE (EPD) HRBTRBXAHE-14-8

VERIFIED KANDA SQUARE GATE
BEixE=S © JR-BT-24001E

https://ecoleaf-label.jp

DFERALEZRT-IDEZA

IDEA v2.1.3 BXUSUMPOERIEINN TOJ5 L& SRR B AIv1.13%FE AL,

®fFE

OT-IBEEDHEE. PCRELUVETE - EERBEESRBL LI,
OLLRIIDOVNTE BEE - EERBICRESNRBEHLLLSGECLHEHONIE A,
(BHRSEURL : https://ecoleaf-label jp/regulation/)

Zi&ES © JR-BT-24001E



